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Die mathematische Geschichte vom „Kasperleis“ 

 

In den „Salzburger Nachichten“ konnte man lesen: 

 

 

1. „Dann müssen S’ eben zwei Kasperleis zu je 44 Jahren nehmen.“ Was hätte der 
Ober auch noch antworten können? Schreibe mehrere Möglichkeiten auf! 
 

2. Wie hätte die Geschichte verlaufen können, wenn der Gast... 
a) 90 Jahre, 
b) 100 Jahre, 
c) ... Jahre 

alt gewesen wäre. Überlege und rechne! 

3. Erfinde eine eigene „Gasthausgeschichte“. Achte darauf, dass die Zahlen 
„stimmen“. 


